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Si z = a+ ib, ρ = |z| =
√
a2 + b2

Si z = a+ ib, θ = arg(z) vérifie cos θ =
a√

a2 + b2

Si z = a+ ib, θ = arg(z) vérifie sin θ =
b√

a2 + b2

cos 0 = 1 et sin 0 = 0 cosπ = −1 et sinπ = 0
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Anp =
n!

(n− p)!
Cpn =

n!

p!(n− p)!

Si X ∼ B(n, p), alors X(Ω) = [[0;n]]

Si X ∼ B(n, p), alors p(X=k) = Cknp
k(1− p)n−k

Si X ∼ B(n, p), alors E(X) = np

Si X ∼ B(n, p), alors V (X) = np(1− p)
Si X ∼H (N,n, p), alors min(X(Ω)) = max{0;n− (1− p)N}
Si X ∼H (N,n, p), alors max(X(Ω)) = min{n; pN}

Si X ∼H (N,n, p), alors p(X=k) =
CkNpC

n−k
N−Np

CnN
Si X ∼H (N,n, p), alors E(X) = np

Si X ∼H (N,n, p), alors V (X) = np(1− p)N − n
N − 1

Si X ∼ G (p), alors X(Ω) = N∗

Si X ∼ G (p), alors p(X=k) = (1− p)k−1p

Si X ∼ G (p), alors E(X) =
1

p

Si X ∼ G (p), alors V (X) =
1− p
p2

Si X ∼P(λ), alors X(Ω) = N∗

Si X ∼P(λ), alors p(X=k) =
e−λλk

k!
Si X ∼P(λ), alors E(X) = λ

Si X ∼P(λ), alors V (X) = λ
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